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FERAERR:

HEHE: 300V (AC)

HIEHIR: 1A(00.6)

B rfE: <12.5mQ (FIEE{H)

“daZrifH: =5000MQ (FA), =100MQ GE#)
il M s 1000V (AC) (Mg~F1m)

ML A fr: 500 Ik

IR RE

B {EEE: -55CT+125C

B OHEXTEAEE: 90% 95%, 40+2°C

m R 3j: 1072000Hz, 147m/s*, BEMi<lups
m o7: 980m/s?, BEkr<<lus

MRIERE AR :
B Bt A4S, HE
B4 5 ik BEVEERL

FERIMERST (R3EANE3% GB/T 1804-m, BA{L: mm):
1. BNk BEXNRIE, S5 n FJRGHEE
JL5-nTJB:A=3. 2mm, C=9mm, D=0. 7mm, #&Z{KJEF B=2mm (n=2"50 i)

JL5—nTJB-1:A=3. 2mm, C=7.7mm, D=0. 75mm, ZE%ZAKJEE B=1mm(n=2"50 )
JL5-nTJB-2:A=2. 7mm, C=9mm, D=0. 7mm, &%k B=2. Tmm (n=2"50 i)
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2. BEREE: BExNiRiE, BSd n R1RiEfLEHE
JL5-—nZKB:A=6. 3mm, B=3.5mm, C=0.65mm (n=2"50 i)
JL5—nZKB-1:A=5. 5mm, B=3.5mm, C=0.65mm (n=2"50 )
JL5—nZKB-2:A=4mm, B=3.2mm, C=0.7mm (n=2"50 %)
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